Calculating Work:  (Objective A)
W = Fd or W = FdCos(,
1. What is the work if you exert 12 N over a distance of 5.0 m? (60. J)

2. If it takes 34.2 N of force to drag something across the floor, what distance have you dragged it if you do 450 J of work? (13.2 m)
3. Jenny Rator does 450 J of work dragging a crate across the floor 14 m.  What force parallel to the floor did she exert to move the crate? (32.14 ≈ 32 N)

4. Fred O’Dadark exerts 34.0 N on a rope that makes a 28.0o angle with the ground, sliding a sled 227 m along the ground.  What work did he do? (6814.6 ≈ 6810  J)
Work and Weight:  (Use g = 9.8 N/kg)
5. How much work is needed to lift a 45 Kg box 9.2 m (4057.2  ≈ 4060 J)

6. Bobbie Sachs lifts a 5.00 kg mass straight up doing 103 J of work.  What distance did she lift the mass?   (2.10 m)

7. Helena Handbasket brings a 16 kg box down from a 2.1 m tall shelf.  What work does she do? (-329.28 ≈ -330 J – notice it is negative)

8. A pump does 4500 J of work in a minute.  What mass of water can it pump to a height of 4.5 m in one minute? (102 Kg)

Work and Friction:
9. Fred who has no head, drags a 15 kg box 58 m.  How much work does he do if the coefficient of friction is 0.45? (3836.7 ≈3800 J)

10. A sliding 12 kg box has 320 J of kinetic energy.  How far will it slide across the floor if the coefficient of friction is 0.12?  (22.67≈23 m)
11. Judy Mann does 145,000 J of work dragging a pulk 1.5 km.  What is the mass of the pulk if the effective coefficient of friction between it and the snow is 0.15? (65.76 ≈ 66 kg)
12. If you do 12,000 J of work dragging a 53 kg sled across the ground for 100. m, what is the coefficient of friction? (0.23)

So you think you’re smart:
13. An elevator motor can do 7500 J of work in a second.  What distance can it raise a 1400 kg elevator in one minute?  (32.79 ≈ 33 m)

14. A 6.0 kg object is sped up from 4.0 m/s to 7.0 m/s over a horizontal distance of 10. m.  How much work was done on the object?  (assume the surface is frictionless)  (find the acceleration, then the force) (99 J)

15. How much work would it take to accelerate a 6.0 kg object from 4.0 m/s to 7.0 m/s over a horizontal distance of 10. m if there is a coefficient of friction between the object and the ground of 0.14? (181.32 ≈ 180 J)
16. How much work would it take to accelerate a 6.0 kg object from 4.0 m/s to 7.0 m/s over a vertical distance of 10. m? (687 J)

